I % an
1 BEBREH
I % &# B H LR 5 B & i
% & 1 1
B (B & 1 1 1 1 4
x ¥ 2 2
HEE &) 2 3@ 1 6(2)
#h 8 4 12 16
£ 8/ & 1 1 3 5
it 5 8 4(2) 17 34(2)
2 EEBSE (45.3.31)
B R BA K £ B B
B E|H# H T Z| BEEORE
. % Rl BN B & TEAE- -EBFEREBORE
X | B T K| FE-EES
T E| B F TRE| &5 -XEF
BOER|WL B § =| ARARBEGRREFRORE
R Al K B | ARREEGRAEE -HR
” F R E | hERBHR - RERRNBARAENR
B oE BB REH — B #2BRA0EMEE
BEBRIE A X 2 r  OWBER
BB LA & # 4 FH
#w B|R g — ” F4
B OR|E B Br| R EE - AKEBRAERROKIE
A wRA| & E k| BEgREAR
” ® N 2| Bl RERR - WKEAZXE
” F o0 i B| REBHEESAR
BHESEl 55 B AEY & K| HERE. REBREROEE

— 3 —




Bt (R e K % i %
BREBIN o # k| WEARAALH  -FZRBEFRE - B
* #H|H X ERT| SBEE B
# Bl I B Z|ZLIERADEMEE
BEBEEREIBE & 2 B z DEEERE
BBER| M LB ” BIBRE
BfE | B X i ” BETH
i £ld B OB E ” F4
BE L K A K K r  E#H
# B/ & 8 X ” 4
o lE B A o® 2
” o a B &/ ” FHE
» F B 4 A3
7z 2 B =t ” EH
v |E R B £ r RA
LEAER| YRFEE b F B — XB KEF
¥ lepals r & & ”
3 F E (BHM44EE)
x A
£ £ % FEH i
BHAERTRRE 610 ¥ M EIRA
HEBEBEERRE 4712
it 5322




¥ B CFERAND
B B TEH ¥
1. # B 1110 | KRERRBE
4 £ B E 59
7. & & 289
8 # fH = 328
9 K =4 2081
nE E B 10309
12 &8 B B 1,970
13. F # B 36
14. EREEREER 784
. HEREBAERE 1,848
A B OB 1
& B 19715
(FE£)
H X A FTEE 1%
REARSEER 1,977%8
| BEESHERARBRE 2726 E7E 856
1 BREEEFAER 413
v REUBAERRE 1,301 ek 350
~ WREWERRRE 800 Hil 400
- BREBERRARE 212 = 106
I BHLEE REARBRE 649
I HEREHERARE 8218 Hil 1290
1 WEREEFREER 1,863 EHiEg 1290
B2REFAEER 315 SHEEF
RTA H=  ow 741 ek 250
i3 B 807 = 725
= BB BRAEER 874
~ BB A B B 5481
V Bl #EE 2681 =l 923
1 KR RERAEE 468 = 39
r o {hE % 1,880 B 884
~ FXRBERER 333
V AKEEEARIEEE 132
VW 2R EERARE 298 HE 84
1 BERNEAARE 168 E 84
r BERFREARE 130
Vi B EREREE 3034
=t 19715 EE 3153






